EARAROBEEIERT — 2 N— IBISH —F

201855/ 1H (X) 2mAFH2H

HEl>%—#% c2a——

‘ [R1%] & ‘ [RERBE] — | & (£) 12000 B

[AE<] 1 7% :1,000,000 § 2 7&:400,000 § 3 #&:250,000 4

4 7% 150,000 . 5 3& : 100,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
KEHEZ 4. - . - BB (KFH)
118111 RKIFTH T 74T s 54.0E 1(1_4)5 i %.6 3 (5_026) INEF R
R:HIRT1 52X B:TETEY b VDAY ¢ ]
ENTE i 7 | REXH 1:14.6 2-2 8.7 — 1 433 | SEILBSIE (viA)
2178 2 — hHH 54.0 (3/4) +3) AR A
L2 T hA—T7—K—F B:XA—R g2 2T 2R Hhis
< . > #1138 14, - . — BEAEE (KH)
30l |3T /%2 T8 50 171?:«? LA A 2 3728) P
X ThANAN B 774 814 0— [ESazie ]
S Bo5 | IR 1:14.9 7-7 37.7| — 10 | 464 |ZREFMH (KH)
] 4|~ VAU e U 54.0 (1 3/4) (+5) EOREE
LTVBARIL R B:TIVT Filisis
o el F A 15, - . — SIBEE (KH)
5055 |#Y /7= 4R 1(7155? B ‘ f; TR
R:hY /RT3 BATUIHh—ZN [ e ]
N o5 | IEOWE 1:15.4 8-8 37.7| — 7 476 | /NEFFERE (1)
EH 3| F7A b 56.0 @) 4y | B) TrnArsa—FaFn
Ry —3IUT BUU—NEAF— HE4S
N s > 6 | MEFEA 1:15.9 9-9 381 — 9 465 | E:2E5— (J1118)
71719 32x52—-E> 77 560 @ 1/2) (s |EEHE
Ry —3UTL BAYLyA BEX &Y K
e iEZ N : - — HEMR (KH)
sl s VAR & H o4 (o 7y 1(715t£)) &3 39.5 5 (4:47) tmre
L1 b7—EY B:Yv Ty —F v BT r—L4
N HEIBThIE :16. — . - WiEsz (KFH)
B Y JFINA — 4 6 we (11 116/22) 5-6 39.3 6 (5;24) %K?
LT AT hoyh— BISE-—EANLT— N T g
7 ¢ #H o4 | BBEXE 1:16.3 1-1 38.3| — 8 455 | BERIFIAE (KH)
1010 T4 M) —INT— 56.0 (1/9) Chy | KR
LENTITFANRTE BENTI AN vV NEEEE A%
N > 4 | AHEHK 1:16.5 10-10  [38.5| — 11 458 | WBAFIE (\Hh)
Ml 6 RARANGERAL RN (3/4) Ch) | BT
LTV aF3IVA— BN—TIU LT o B77— 4
® I —F—@EBIERL
13—7+—
23—F—
Jol=5r= 11,8,6,5,2,1,4,3,9,7,10
40—+ — 11,8,6,5,1,2,4,3,9,7,10
[ N3
BB 1 310H 714K 8-11 260M % E 7-8 500 3EHE 1-8-11 330M
8 B 1 110 1-11 190H B 8-7 1,160/ K31 11-8-1 2,640MH
8 110 1-8 140M B E 8-11 620
1 110 B H 11-8 1,380M

ABICOVWTRDTEEERROODE. TR LIV,




